4( Distributive property: find the missing number )7

Find the missing number in the following expressions using the distributive
property of mitiplication

II; (5/x10)+(5x6)=5K

4.  (9x5)- (9x3) =9 x k]
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Distributive property: find the missing number

ind the missir

(0]

wumber in the following expressions using the distributive

perty of mltiplication

(5x10)+(5%x6)=5

Let!s apply the distributive property by taking out the common digit in the expressio

5 (JO#6)=5x

So,I(5x10)+(5x6)=5x(10+6)

et’s first of all decompose 15 into its corresponding place valu

ow, let’s apply the distributive property

7x (10 + 5)/= (7 x Y+ (7 x5)

(7x10) + (7x5) = (7x10 ) + (7x5)

o, the missing number is 10

et’s first of all try to see/how we can intruduce a/minus sign in our operation

f we subtract 3 from |30, we |will make 27

0,2 x =2x(30-3)

ow, let’s apply the distributive property.

X 27 = (2x ) - (2x 3)

X (30-3)=(2x30)-(2x23)

0, the missing numbler is 3

(9x5) - (9x3) =9 x )

et’s apply the distributive property by takinglout the common digit in the expression

9x5) -1(9x3) = 9
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